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NATIONAL EXAMINATION 2003/2004

"MATHEMATICS VII

SECTION A
ANSWER 001
Lt Ll
0,9xx0,16
W _0,001728 _ 0,612
0.4144
54 4 8
P — ~_ 0,14x0,04x0,008 _ 100 100 ¥ 100
' 0,9x0,16 9 16
107106

34 4 g 10 100  6x2 -3 oo

B X ¥ = =
106 100 1060 9 16 100x10 250

ANSWER 002
The slope coefficient (Director) of the right = 53‘5_01) =)

The equation of the line = y-5=2(x-3)

S y-5=2x-6

= yp=2x—1 (e 2% — g = | =0
or y-(-1)=2(x-0)

oy=1=1Ix

< y=2x-1 (@2x-y-1=0)
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y=mx+c

5=2x3+c fip 5=3x+c¢

c=-1 -1=0+¢ m=2 c¢==-1  y=2x-1
y=2x-1

Or A(a,,a,)=(0,-1) B(b,,b,)=(3.5)
D= (b, —ay)x - y(b,a) +ayby —ab, =0
De(5+Dx-y(3-0)+(-1.3-0,5)=0
D=6x-3y-3=0

D=2x-y-1=0

ou - y_y:=y2_yI @ny:ﬂ(x~3) = y-5+2 {x=3)
Ty 3
y=5=2x-6 y=2x-1
2 e 2
5 AE" = AB +BE
o) 2 2
§9=1“;24(Cm) £+9 =225
? v AE =225 = 15cm
€0 =2 i =00 AB _AE 12 _1s

12

e B s
— ) - o, BC ED 24 ED
AD =36 =17 )em™ =2023cm”

- = 12ED =15%24
AD =+20235cm” =45¢em

E - 15x24 1
12
AD = AE+ ED
=13cm + 30em = 45cm ou pourThales i_L—)— = A
AE ED
=
AB

AD =15x36¢cm = 45¢m
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ANSWER 004

The curved surface of the cone = 3,14 x 3cm X g or

3,3 xg=47,1cm?
47 lem™:
3,14x3

The height of cone = /5% -3%cm = dem

1 3 )
The volume of cone =--x3,14x3" xdem® = 37,68cm’
2

=5cm

= g=

3,14 x

ANSWER 005

(1,25)x: (25)2x =1=1 5 5820+ =8
< 3x3x-22x=1)=0
< 3x—4x-2=0 = x=-2
S 53 L EAWAY o ou 3ic 4x4+2+1
53— 522 3x=4x+2
3x—4x=2
3x+2(2x+1)=0 oo

3% = 4x +3, o x=-2
x==-2

-
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ANSWER 006
x+2y =40 - x+2(60-3x) = 40
y=60-3x ¥y =60-3x
x+120-6x=40
y=060-3x

~5x =-30 x=16
= =
fy =60 -3x y=12
x=2y =40 & x =2y =30|x3
y=060-3x 3x+y=60|x1

3x-6y=-12
3x+ y=60

-Sy=-060=y=12< 3)dans(1):x+2(12) =40 =>x+24 =40

S ={{16,12)}

ulors x =16

ANSWER 007

ﬁzfi—(—z) _[3
L6,-1 5

— [3,—0 A [3]

CDh= .:
=lAL 3y

[4,B]et [c,p] are parallel k[

[UR R VS ]
Teos «

L(i) so 3k = 5:>§
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thus%@} = (a et two segments are parallel. (: 3k e 91%)

o)« <)
or 5 3 because 5x3=3x5

AB colinéairte & @ -

ANSWER 008
= Coef.ang. =1
= Coef.ang. = 1
» Condition = 1

Conclusion=0,5
Let x age in years of greater student

The age of the youngest will %
therefore one third will %x

Ainsi %+x+4x+ix:15x3=45<:> Dx+4x+3x =180

S0p=180 = r=20
Years of the three students were 10.25 and 20 years

ANSWER 009
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=
x ¥y 6 9
_15+2
18
17
18
o
Hence ' BT L
m n 18 17 17
_+4_.
x ¥
da—2xpl =3 & F =2l
= xX2+42x-8=0
o> x2+4x—-2x—-8=0
25 x(xjr4)——2(x+4)=0 =x=2e x=-4

= x+1+3 | AR
Or Jx+D’=3 x=3-1 spdl
[x+1=3 x=2 e i
ANSWER 011

J45 4125 35455 85
J30-20  4/5-245 245

4

T 3V5 +5V5)@5 + 243) _ 3545 + 352245 + 545544 + 553245
(@525 25 (@V5)? - (23

1255+ 6x5+20x5+10x5 _ 60=30+100+50 _ 240
- 16.5—-4.5 B 80 - 20 T 60

=4
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ANSWER 012

31-1'—(x+l)23<:>x—3(x+1}23.3

Cx—-3x-3>9

—-2x=12
x<—6 S =} ,6]= 6]

ANSWER 013

Let x be the number of students who play football only
Let y the number of students who only play volieyball

' Zis the number of students who play football or n9 voe] leyball
Hence
x=17=26 5= 9
y::l7?20 =>y=3

17+9+3+z =40 = z=1}

ANSWER 014
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) x measure the interior angle of regular polygen is, the exterior angle x-
60

Thus <X + (x-60” = 180°
e 2x =24
e x =120
b) the exterior angle =12°-60° = 60°
The number of sides :36—6001: 6
(n—2)180=nx120
180m—-360=120n
1801 —-120n =360
60r =360
n=">0

ANSWER 015

Let x( RwF) investment of John
Theinvestment of Sally is (x-200) RwF

Consider the investment period the interest of John = x.l—gO-Frw

Interest by Sally =(x-2000)%t Frw

6x  (x—2000).9
e SR Ry
100 1000

= 6x = (x - 2000).9

< 6x =9x-15000

& 3x=18000

e . John has mvested 600Frw

|
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SECTION B

ANSWER 016
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ANSWER 017
1)  1°.a)

b.
10x% +17x+3 =10x? +15X +2x+3

=5x(2x+3)+(2x +3)

=(Sx+1D(2x+3)

10x2 =3x* - 3Ix-6=(x-2)5x+ DNRx+3) =0
=2 ou x=—l ou)c:—E
5 5

2°).
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I+ Tx+2=3x" 46K +x+2
=3x(x+2)+(x+2)
=(B3x =1)(x +2)

5 2x—3
-+ —
(x+2)3x+1) x+2

& 5+Gx+1)2x=3)=0

< 5+6x°-T7x-3=0

< 6 ~Tx+2=0

& 6x7 —dx-3x+2=0
e 2x(B3x-2)-(3x-2)=0

< 2x-13x-2)=0 x:% ou Xi=
I+ Tx+2=3x" +6x+x+2
=3x(x+2)+{(x+2)
=(B3x=1)x+2)
—T"—S-——:—zx"3 5+ 03+ D2x-3)=0
I+ Ux 42 X2
& 5(x+2) = 2x-3BK’ +Tx +2)
& 6x° —Tx+2=0
= 6x? ~dx-3x+2=0
& 2x(3x—-2)-(3x-2)=0
< (2x-1B3x-2)=0 xzé ou x=%

ANSWER 018

2) 1 A) connecting Bto D
A A. D ADB = ACB =50 ( they underlie the
w same Arc
B

AB)

W | b
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B) 4 BD = 90" CAD = Diumétre
DAB =180 - (90° +50°) = 40°

Tne sum of the angles of the triangle ABD = 1800

Y

A).

—2 : —2 N

SO =a+b et MO =c* +d* = ainsi a2+ cet+d?
@’ =¢*+d*-b°
a’ =~el +d? +b°

1

3). Uaire du % cercle MPO= —x3,14x5cmx5em = 39,25Cm>

NS

PO’ =MO' -PM" = (10em)? - (8em)?

PO = 36¢cm = 6em

The area of triangle PO = %x6cmx8€m = 24em’
The shaded area=39,25¢m2 x -24cm2=15,25cm?

C). MO ). is common to triangles MPO et MNO
MN = 0P (data)
MPO = MNO- 90 (angles subtended by the diameter of the
circumference )
A MNO = AOPM (Right Angle - hypotenuse-size)




